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1. Synchronscope device is a electrodynamometer type or
Synchronscope eréiug electrodynamometer type @idag)

(A)
(B)
(©)

7

(E)

Moving coil type
Power factor meter
Moving Iron type

Both (B} and (C) are correct

Answer not known
e AgMuwelicbena

2. A bridge circuit works at a frequency of 2 kHz. The following can be
used as detectors for detection of null conditions in the bridge
Bridge circuit <eng 2 kHz frequency o e Gauwe Qeiwyn Qureps
SpsanLapdles aeneu detector s vweTuESHD CQurys e Null
condition &g Qgdgib?

)

&5
©)
(D)

(E)

Vibration galvanometer and headphones .

Headphones and tunable amplifiers

Vibration galvanometer and tunable amplifiers

Vibration galvanometers, headphones and tunable amplifiers .

Answer not known
e QgRweiidrena
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In synchronscopes the correct instant of synchronizing is when the
bushbar and the incoming machine voltages

Synchronscope smefiie» bushbar oiar @oansed Qurys
synchronizing seng smeilule o.drer voltage e

W Are equal in magnitude
Magnitude swwrs @@méE0wEUTWE BeLEumih

(B) Are not equal in magnitude
Magnitude swwrs @dwrg@urpg e @upib

(C) Does not have the same frequency
. Frequency <yang Caupu@ib Qumupg penGumibd
(D) Are in different phase ‘
Phase wyeig) Caupuphin@urpg perGumin

(E) Answer not known
eflen Qg flwefldoana

Example of absolute instrument
Absolute instrument - = gryemid

(A)° Ammeter ' (B) Voltmeter
T Geumabt B i

Z)' Tangent galvanometer (D) Energy meter
CLar@gean’ sroeuGermSiLL i ereurirgdl B LT

(E) Answer not known
ellenL Qgflwelidvenay
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5. Precision is defined as
Precision eréirLigy

(A) Reliability (B) Accuracy
427 Repeatability (D) Uncertainty

(E) Answer not known
dlenL. @aMwueildwene

6. Damping commonly used in moving Iron instrument is

damping.
- Qurgieurs moving Iron smellseled vweaTuBSg b dumping .
(A) Air friction M Eddy current
(C) Flud friction (D) None of these
(E) -Answer not known
efen Qsfweldene

7. Dynamometer type moving coil instrument can be used for
Dynamometer euens moving coil smelsar serellL 2 gajeug

(A) DC current and voltage only
DC current wpmw voltage wi G

(B) AC current and voltage only
AC current wphmib voltage oG

(C) DC or AC currents and voltages only

DC @isvarg) AC currents wpmid voltages it Gib
m DC as well as AC circuit

DC wpmn AC euens circuit

(E) Answer not known
eflen Qgflueidena
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8.  The sensitivity of the voltmeter is
Ceuredt_ 151" L fleb sensitivity eremug

5

©

(B)

>0 <o

(D)

Dix DI

(E) Answer not known
eflenL QgMweildena

-9,  Maxwell's inductance — capacitance bridge is used for measurement
of inductance of

Maxwell's inductance — capacitance bridge measurement of
inductance siseyeLw sjereil ) LweTuREDS.

(A) Low Q coils . M Medium Q coils .

(C) High Q coils (D) Low and medium Q coils

(E) Answer not known
eflen Qg flweldene
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10.

11.

In Anderson bridge the unknown self inductance is measured in

terms of a fixed and by comparison.
Anderson bridge & Gsflwung inductance g senellGib Gurg Hlenawimer
WHMmID Uil Ceauam@ib. '

(A) Resistance and Capacitance
M Capacitance and Resistance
(C) Inductance and Capacitance
(D) Capacitance and Inductance

(E) Answer not known
e Gsflweldana

This measurement is not done by scheming bridge
Scheming bridge amé serefciuL aprwngg @euphded

(A) Capacitance (B) Permittivity
(C) Dielectric loss M High resistance

(E) Answer not known
edlemL Qgﬂmaﬂ@ww
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12.

13.

14.

With help of instrument can be used for measurement
of high voltages and large currents.
aps  smellller o geilwmd  wfls  damanrgpssd,  wHombd 0 ubs
WlenGermi_L_gdlenen ends 2. geydlang) ?

(A) Voltage divider & Transformer
CeurddGLgh emeuL_ir G- TG LI MITLO T
(C) Transducer (D) Potentiometer
| I JTehTe g YL &I . Qum' QLen&Cuim B i

(E) Answer not known
alenL @gfweldrana

is the total power delivered (or) consumed over a time
interval. |

aeirug  Gomggs  phpd oo @@ GHLAL  sme
BenGeuafluiier Grawarner pbpmemELb.

M Energy (B) Power
(C) Voltage (D) Current

(E) Answer not known
eflenL Qgfwaiidenay

Which transformer is used for measurement of high current?
erbs Transformer oflsuls WaCarr g Siarés o sadlenng ?
(A) Potential Transformer M Current Transformer
(C) Step up transformer (D) Step down transformer

(E) Answer not known
eflen Cgfweferane
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15. Machine armature, series field winding examples of
Machine armature, series field winding a@sgssm_Haar

k{ Low resistance (B) Medium resistance
Genmeuren LlesenL BHSSToner Wensami

(C) High resistance (D) No resistance
oifls BlensanL WengenL @Geana

(E) Answer not known
aen @AgfNueidana

16, In a single phase energy meter the core of these electro magnet is
made up of steel lamination.

Single phase energy meter & oerter electro magnet material syeng
steel laminational amméd 2 (peunsaELILIL G HEGLD.

(A) Aluminium 48; Silicon
i@ Blesflwid | S daman

(C) Tron | (D) Gold
oy . smsb

(E) Answer not known
eflen Qgflwelerenay
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17. In a CRT the focussing anode is located
CRT We focussing anode syenwellwreng

M Between pre accelerating and accelerating anodes

Pre accelerating anode &g accelerating anodes &g @eLuld
2 _GTeng)

(B) After accelerating anode

Accelerating anodes@ eiund o drarg

(C) Before pre accelerating anode
Pre accelerating anodes apenenmed 2 erang

(D) Before accelerating anode
Accelerating anodess, qpanane 2 drerg

(E) Answer not known
eflen Qg flwaildana

18. The main paft of the cathode ray oscilloscope is
Cathode Ray Oscilloscope e @psflw ugd

(A) Vertical Amplifier (B) Horizontal Amplifier
w)' Cathode Ray Tube (CRT) (D) Time Base Generator

(E) Answer not known
aflen gfwelildana
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19.

20.

An inverse transducers converts
Inverse transducer wrhmeug

M Electrical energy to any other form of energy
Electrical energy We\(mps Caum eusmswimen energy

(B) Electrical energy to light energy
Electrical energy Welmpg light energy wrs wrpp

(C) Mechanical displacement in to electrical signal
Mechanical displacement &l@spg electrical signal s

(D) Electrical energy to mechanical form
Electrical energy Wief(mpg mechanical energy wns wrpmeug -

(E) Answer not known
silenL Qgflweildency

RTD is a/an

RTD ¢m

(A) Active Transducer M Passive Transducer
(C) Inductive Transducer (D) Capacitive Transducer

(E) Answer not known
sllen_ Qzflweildanc
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21.

22.

23.

Which one of the following is not DC system?
Spsa_eupid ergy DC system @eovene

(A) Two wire DC system

(B) Two wire system with mid point earthed

(C) Three wire system
@ Four wire system

(E) Answer not known
aflen Qsflweiidena

Identify the type of HVDC scheme that uses only one conductor
@Gy @6 sLsdewl (conductor) vweru@sgny HVDC schemeén

QUENE LIMTETG)

#0 Monopolar
(C) Homopolar

(E) Answer not known
sllenL. Gsflweidenay

(B) Bipolar
(D) Back to back link

If sag in an overhead line increases, tension in the line

Overhead lineé& oerer sager

(@ pelens)ureng

W Decreases

GopSleTng

(C) Remains same
- onhob Gédena

(E) Answer not known
slen @gflwaildana

12

o wmbGurg, Sigar  tension

(B) Increasesl
Sflsrdlenng

(D) Zero

 Rflub
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24, Aluminium has a specific gravity of
sflaiugder ev@uiis Syredliiy

25.

)
(©
(E)

1.5 & 2.7

4.2 (D) 7.8

Answer not known
cflen Asflweicdana

Temperature increase produces which of the following effect on a
transmission line?

Qasuflooew  ofswngnCurg <g transmission line g apg ezsdo
urdlsdmg) 2

(A)

B)

Tension of the conductor and it's sag increase
Conductor & Tension wpmib sag Gramhn fsfisdng

Tension of the conductor and it's sag decrease
Conductor e Tension whmb sag Grar@Gn Gaondng

M Tension of the conductor decreases and it's sag increases

D)

(E)

Conductor et Tension gepdpg whmb sag ofafsdpg

Tension of the conductor increases and it's sag decreases
Conductor eér Tension oifsfsdpg womb sag Gopdng

Answer not known

alienL Qg flwsllchenen
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26. A
from moisture.

is provided over the insulation to protect the cable

Cable g mriugsdadmbg ungsnés insulation Bg sewsstiuBipg

(A) Serving
(C) Bedding

(E) Answer not known
' ellerL Qgfweildwene

& Metallic sheath

(D) Armouring

27. The most common and accurate method of locating earth fault or
short — circuit fault in underground cables

Underground cable & ghu@b earth fault weag short — circuit fault
8 sam(HUinss LwaTuBSSLLIGL weapaw Gsiey dswus

&
(C) Simple test -

(E) Answer not known
sltenL Qg Muiefdenc

Murray loop test

(B) Open circuit test

-(D) Short circuit test

28. Steel pipes arranged to take water to power house is called
‘power house &g oy adsgs Qsogud Steel pipes ser @Guc;urrgu

@qmg}&:&;uu@m

A Penstock
(C) Spill ways

(E) Answer not known
eflen Qgflwefdena

14

(B) Surge tapk
(D) Tail race
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29. Suspension type of insulator are used for voltages beyond

Suspension type insulator @is CaureCLgy Cuéd LwuasTLRSSLHHDS

(A)

400 V

# 33k

(E) Answer not known

efleni Gsflweidena

(B) 11kV
(D) 240V

30. The most commonly used metal for cooling of nuclear reactors 1s

31.

Qurgieuns, igm 2 easamer @Gaflrellss LuaTLHSHILD 2 Carshd eTg? |

W Sodium

Gemguwnb (Sodium)

(B) Calcium
srédwid (Caleium)

(C) Mercury (D) Zinc
Gwiref (Mercury)- At (Zine)
(E) Answer not known
sllenL GQzilwedldene
The maximum KVA demand of the consumer is to

power factor.

m&siGaurfler maximum KVA demand werg ueur factor &g ebs
AdlgsHer 2 ereng) ?

M inversely proportional

©)

(E)

Gpirwmpren (Inversely)

equal
FLOLOTGOT

Answer not known
cfllenL Qg flwaelicvaney

15

(B) directly propdrtional _
Crymen

(D) double
@iy
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32. Area under the daily load curve divided by 24 gives
Area under the load curve e 24 g,d au@és deniug

‘(Kr average load (B) maximum demand
(C) units generated (D) load factor

(E) Answer not known
eflenL Cgfweldeane

33. The another name for steam power station is
Steam power station eflénr LHG@Dr@E Quwii

§7 . "Thermal Station (B) Water Station
(C) Nuclear Station (D) Diesel Station

(E) Answer not known
eflen Qgfluiailerape

34. In a Nuclear reactor, the moderator is used to
Blusdleflur Mwuslfe wrc Crici Lwier

M ~ slow down neutrons ‘
Bl rrafler GeussHenen GenmiiLg)
(B) slow down electrons
cresrmen Ceusgdlanar GenpriLg
(C) high accelerate neutrons
By rrafler Coussdanesr dlahiig
(D) high accelerate electrons .
cr&rmen Ceausglanar sflafling

(E) Answer not known
cllenL. Qzflweleana
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35.

36.

Which of the following Power Generation under conventional
method?
Sparamumeuseilar Iy euld smihg Wer 2 HusSH (weom erg)?

(A) Hydro-electric (B) Thermal

Bir-1flere_Huss Sane-ilenflereowud 2 Husd
(C) Nuclear m All of the above

Sggillan Flepeow 2 HusH GCule sarL wreyb

(E) Answer not known
aflen @gfluslicrena

A low utilisation factor for a plant indicates that
@@ Vaheowsder utilisation factor Wseyb @opeurns QEring amss
GSDGADS?
(A) Plant is under maintenance
BemBlenewid ugmofliyl ueflserssrs Hnsstiul Herang
(B) Plant is used for base load only
Werfleewun Base load ssrms w (b uwesu@ssHLGH DS
M Plant is used for standby purpose only
Benflenewwid Standby «e Guiudls Qanamg hsdng

(D) Plant is used for base load as well as peak load
Beflevwwi Base load wppb Peak load @rawesLujb supply
Qeiidlpsy - . - .

(E) Answer not known
eflenL Qg flwelcene
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37.

38.

A fuse element should have
Fuse element <yang

(C) medium
BHSSTD

" (E) Answer not known

clenL QgMweldens

melting point.

2 (HGW Hleneenws Gsmear_g).
(B) high

IS

(D) low or high
GOPG ADDF SiFEHD

The voltage that appears across the.contacts of the circuit breaker

during the arcing period is

Circuit breaker e contact s@séE @eLCu arcing period e Gurg

o (meurdlenm Wlemam(pssLb

_ Qf)' Arc voltage

(B) Restriking voltage
(C) Recovery voltage

(D) Rate of Rise of Restriking Voltage

(E) Answer not known
cflenL Qzflweldenc

18

336-Electrica.l and Electronics
Engineering



39.

40.

Function of a fuse is to
Fuse ang

(A) Identify the fault
‘Bt geum’ WL ELD ST Mugbd

zf Sense the fault and break the circuit

‘“Oev geumy’ (Electrical fault) & o ewiig), circuit & break Qswg
A | | _

(C) Same that of a relay
Relay-s Gure Qeweu@n

(D) Same that of a circuit breaker
Circuit breaker-g Gure Qswdu@b

(E) Answer not known
ellenL Qaflueildane

In equipment grounding, the enclosure is connected to
wire.

Equipment grounding e, (enclosure) epgw &pm © 1 6l
@ e@menssLILpLD.

M Ground | (B) Neutral

(C) Phase (D) Either phase or neutral

(E) Answer not known
aflenL Gzflweldenc

19 ‘336—E1ectrical and Electronics
: Engineering



41. Regulation of a good transformer should be near
@@ poO® yrrenevsUrioiler QrgGaoeayear Spssarieaumdled obs wdHinfer
SiHED @(més Ceuamiib.
o 1% (B) 10%
(C) 20% (D) 30%

(E) Answer not known
aflen QgRweildana

42. The main purpose of using core in a Transformer is to
Bemompiiseiid (Transformer) core g e uGurastiv@sgeuger waHu

STTERTLD

#0 Reduce reluctance
Reduce reluctance (reluctance g @epriugns,)

(B) Prevent eddy current loss -
Eddy current loss g gefliiiush@

(C) Decrease iron loss
Iron loss & @enss

(D) Eliminate magnetic hystersis:
Magnetic hystersis pé@eusie

(E) Answer not known
efen GsMlwiefcena

20 336-Electrical and Electronics
Engineering



43.

44,

The leakage flux in a transformer depends upon the

~ Transformer-& leakage flux erens eripg 2 dreng 2

(A) applied voltage (B) frequency
M load current (D) mutual flux

(E) Answer not known
alenL Gaflweiicens

In a transformer EMF per turn in primary winding 1s
Transformer-é primary winding-uié» EMF per turn syeng

(A) less than EMF per turn in secondary winding

secondary winding-udeér EMF per turn-g &Sl geopeuns @mash
(B) greater than EMF per turn in secondary winding

secondary wmdmg wer EMF per turn-g ol siflswons Gosen

W equal to EMF per turn in secondary winding
secondary winding-wer EMF per turn-&@ swwrs Q@mé@hd

(D) equal to zero
URLwsSDE swws QnsEGD

(E) Answer not known
cflenL Qzflweiidwane
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45.

46.

47.

A 200 KVA transformer has an iron loss of 1 KW and full load Cu

loss of 4 KW. Its load KVA corresponding to maximum efficiency is
om 200 KVA transformer-eén Iron loss 1 KW-gsaib Copper loss
<arg full load-& 4 KW gysayb oderg. oigar afsuls Soassrer
(max.efficiency) load KVA-er oyereureng
Y0 100 KVA (B) 141.4 KVA
(C) B50KVA : (D) 200 KVA
(E) Answer not known

eflenL Ggflweléena
The load taken up by an alternator depends upon its of
its rotor.
oL TCaT L yrang Liesee ghnisbardresn Cung Siger @Lped
FNTHGIGTATS).
(A) Controlling Torque ' M Driving'Torque
(C) Deflecting Torque (D) Advancement
(E) Answer not known

eflenL Ggflwafwama
A 50 Hz alternator will run at the greatest possible speed if it is

wound for poles.

@ 50 Hz alternator oflswren Gassdd spaeasne Cseeiwrar
poles eramanilsans.

(A) 8 (B) 6

©) 4 | e

(E) Answer not known
ellen Qaflweiidwene
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48.

49,

What is the frequency of voltage generated by an alternator having
10 poles and rotating at 720 rpm?

Alternatoreén polesaflenr aamaises 10 speed 720 rpm, =iGurg
Alternator e frequency ereman?

(4) 50 Hz P 60 Hz
(C) 70 Hz (D) 75 Hz

(E) Answer not known
clenL Qgflwaildensy

In an alternator when.the load pf is unity
Alternator e load power factor gaig unity = @@as@m(%u g

(A) the armature flux will be demagnetising
Armature flux eyerg demagnetising

M the armature flux will be cross magnetising
Armature flux eyerg cross magnetising

(C) the armature flux will reduce to zero
Armature flux geonbg zero <u@w

(D) * the armature flux will have square waveform
Armature flux <eyang square waveform s @mé@h

(E) Answer not known
eflenL Agflweildwene
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50. Turbo alternator are generally used to run at
Qurgieurs Turbo alternator er Speed syeang)

(A) Low speed (B) Medium speed
Geonhs speed Wigwrer speed

(C) Low and medium speed M Very high speed
G@nhHs LHmib Bgworer speed =ifs Gausd (speed)

(E) - Answer not known
eflenL Qgflweildena

51. ‘A 3-¢ slip ring induction motor is fed from the rotor side with
stator winding short circuited. The frequency of stator current is
@m 3—¢ slip ring induction motor yearg rotor eafwrs feed
Qeiwiiuépg. <seerw stator winding weng short circuit
Qewiwul e stator current -an frequency <yeng

m Slip frequency

(B) Supply frequency

(C) Frequency corresponding to the rotor speed
(D) Zero | |

(E) Answer not known
dlen Qaflwelcdrency
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52.

53.

An induction motor when started on load does not accelerate upto
full load speed, but runs at 1/7th of the rated speed. The motor is
said to be

e Induction motor— g start Qsuund Cung <ig full load speed— &

whigstod rated speed—e ) & vk l/7th Causgdéd Buriudearmed
@ G &
SBMH& ererme Cluwr?

(A) Locking (B) Plugging
# Crawling (D) Cogging
(E) Answer not known

aflenL Ggmweildene

The slip at which maximum torgue occurs in a 3¢ induction motor is
given as
¢ induction motor & ifswmren torque e slip & o meurdipg.

R ' R
S=—% B) S=—2
P X (B) ;
2
© S=%2 D) S=R,-X,
. 2 . )

(E) Answer not known
aflenL GgRweidana
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54. Synchronous motor can operate at

"55.

56.

@ Hnsrars Corl Ly SpasarLaubhiled abg Hlerauld @ussmmb?
(A) Lagging p.f. only
Casdli Liaui SHCUSLIT WLI_{HIb
(B) Leading p.f. only
le.q_lﬁ.l LGUT oGUELT LDL..@LD
(C) Unity p.f. only

wreili iy Leuim SsGuéLT WL Hib

ﬂ Any of the above these

Cudaerm_subdled ggreug ey

(E) Answer not known
eften Waflweildwena

The range of efficiency for shiaded pole motor is
Shaded pole motor e efficiency wéliy

(A)  95% to 99% (B) 80% to 90%
W 5% to 35% (D) 50% to 75%

(E) Answer not known
elenL Qg flweilcvenay

A universal motors is used for driving

Universal Gum_Lyreng @ LwETLRSSILHEHDS.
W food mixers | (B) ceiling fan |
(C) electric clocks (D) photocopying machines

(E) Answer not known
eflen. Ggflweiidana
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57.

58.

59.

The motor that provides high starting torque is
High starting torque Csamaiu@w GLisaled LueTLRHSSEamI L motor
(A) Capacitor run motor (B) Resistance start motor

(C) Shaded pole motor M Capacitor start motor

(E) Answer not known
cllenL Ggfweildana

The direction of rotation of induction motor can be reversed by

Induction motor @paib Hewsew wrHhl owss Qe
Coughrpib.

(A) increasing the supply voltage
}Ef reversing the phase sequence

(C) decreasing the supply voltage

(D) reducing the frequency

(E) Answer not known
ellen Agtiweildency

In Switched Reluctance Motor, torque 1s produced due to
Switched Reluctance Motor (SRM) e torque = (seumeugparar pr1nc1ple

M Varlab1e reluctance prlnlmple
(B) Self inductance principle

(C) Mutual inductance principle
(D) Constant reluctance principle |

(E) Answer not known
elleni. Ggflweidene
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60.

61..

The speed of rotation of stepper motor depends on
Stepper motor & speed of rotation wyearg erepsts QuUIMISSS) ?

(A) magnitude of supply voltage jBf frequency of input pulse
(C) torque (D) polarity of stator current

(E) Answer not known
aflen Ggfiwelldana

In PLC programme, a retentive timer function 1is -
PLC yGrrélymde retentive timer greng

(A) Defaults to the ‘ON’ state
Queuner ‘ger Hleva

(B) Defaults to the OFF state
@ucurer ‘g Hleve

(C) Comes last in the program -
Flrelled senHwirs eu(mid

% Not reset after a power cycle
ueuii &PHAEGL GpE BLLawssiuaildheama

(E) Answer not known
eflen @gMwelldhanay
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62.

63.

The following elements are needed to make a star delta starter
using Ladder diagram

GaoLfm e widigentd wwemRSd evmi @LdLr duLmilii ey 2 (heurd@GHeusnH
Caeneuwirenency eretllewesrar?

m Two push buttons, One timer, Three contactor
@rewt(y L6y LILL 6, (b L LDIT, ApETT &TERTL Gl TS6T
(B) One push button, One timer, Three contactor
6(h L6 LILL 68, 6(h OLLOM, OGN ST &L T&eT
(C) Two push button, Two timer, Two contactor
- @reTh Yein L &, @remh e, @TeT(H SreTLSLTEET
(D) None of the above
CuCa 2 dretdled ey Llldransy

(E) Answer not known
cllenL Qzilweildene

A normally closed contact symbolize in ladder logic is
gafl stsagdle, epgw Aariy Qurgens aass @&Hasdpg 2

(A) An open switch M A closed switch
@O Spps sefll & RO Py sellé
(C) A Timer (D) A Counter
62(Th &NL_LDIT GR(H SHEeBrL_iT

(E) Answer not known
eflen Qgflweldrena
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64.

65.

66.

programmable logic controller.

are an example for output modules in the

Blroupssssmgn orgs sam Grrofleo oder Ceefllih) CsredaEnss

- (1 T(HSHIGSTL(H.
(A) Switches

Hleneoiomi
(C) Lamps

ellars @ ser

(E) Answer not known
ailenL @gflwelildvena

(B) Alarms |

SO MFRISHET

# Both (B) and (C)

(B) wpmbd (C) @ra@ o

The following process updates the status of PLC outputs .
Qereuqsd ehg Qewagapurars PLC output wduyseert gt Qsdpng 2

(A) Full Scan
w1 evGae

(C) Input scan
o dratlh cuCaerm

(E) Answer not known
aien_ Qzilweiecveney

The most popular programming method 1s PLC 1s
PLC e flseyd Qruewrer programming euenswneng)

W0 Ladder diagram

eremtl euenuL_LD

(C) OOP+
O0P+

(E) Answer not known
sllenL Ggflwelildana

30

M Output scan

Qeuafuih evCaes

(D) Process scan
Qawaparp cvCael

(B) C++
C++

(D) VHDL

&fl.6T&. Ig..6T6D.
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67.

68.

When the plunger of a contactor is in closed position, the coil current
1S .
eramLrsLfler  Getemgi  epypw  Hevawwdd  @mé@  Curg,  smled

WesrGaTme_L_tb @E&EGLD.

(A) zero M maximum
Lehedwinres 2 fsLons

(C) minimum ' (D) negative
GHDDEUNE AN

(E) Answer not known
sllenL Ggmwueildvana

When two dissimilar metals having different thermal coefficients of

expansion are joined, it is called .
QeueuGaum  Geuius  @Gewiger  Qarae  @Queanh 2 Consnser

QearssLu@bGurg, <ig - T IDWPESLUBE DG

¢ Bimetallic strips (B) Trimetallic strips
U@L LTelld 6vigMiiger gey@wlLredlé eugfuiger

(C) Metallic strips (D) Bidirectional strips

QulLrels evigfiiiser UL TEasaT 6vigflligeT

'(E) Answer not known

eflen Qgflwaildana

31 336-Electrical and Electronics
Engineering



69.

70.

71.

In contactor, the material Silver Nickel is good for carrying current
upto about A.

sgran_rsLfld, Qeudrafl Hesd GQummer s A aey

WenCarTl L g THiEgIF QFie audg).
(A) 25
(C 75

(E) Answer not known
dllenL. Gaflweilcensy

‘Inching’ of a motor is also named as

@ CurlLrer ‘@eré Qslieug

(C) Quicking
3]

(E) Answer not known
elen Gz flweldena

erepb Quuwiflcin’ (Rereng.

(B) Stopping

goLmn9m

(D) Slipping
P [N LY

The relay which remains in energised position even when the
operation coil is de-energised is known as
Qusss smar Grwudpsstuin Curgib opbpd Blés (r_f;lana)uﬁla) B(mS @D

MG,

(A) Under relay
et NG

(C) Over relay
geurm MGe

(E) Answer not known
sflev Qsflweilcvenay

32

e epsEliubhidng..

Latching relay
Gl iy AGe

(D) Control relay
sluurih MGe
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72. The function of overload relay is
e Gor® AGaullen Lwenum@ eremug)

73.

% To protect the motor from excessive current

(B)

©)

D)

(E)

G’ ey sflsworer WarGearm L gHe Q@mHgGID LNESTSEDS

To protect the motor from excessive current and voltage
Gom_ ey syfswrer WarGarm b whpb O (psssdad @mbIb
LTgIET&ES DS

To protect the motor from excessive voltage

GorlLreny ydawren Weran(psssded QmbS LTgsnsdns)

To protect the motor from less current

Curli ey GopEs Aate| WeanGanr L sHd @mhg UTHETES DS

Answer not known
elenL Qasflueidena

Self-induced or reactance voltage is given as, if the commutation is
linear

Commutation Linear =6 @mégn ulssded, Self-induced or
Reactance voltage wang

- Where I — Current through the conductor

T, — Time of commutation

L — Self-Inductance

N Lx | (B) Lx-L
T, E 1.
(®)) 1.11in : (D) 1.11Lx?~{
15 _ T,
(E) Answer not known

eflen Qgfluefdene
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74. In DC motor control, a charged capacitor momentarily reverse-
biases the conducting thyristor to turn it off is called

commutation.
q.6. Gurlirt sl @uumigd, e &gy Gdedwdule HlaGsssl s

Simenss sLsgIb agflav amy Aflg Coyb Meatd e wIHoHGG
a;rrl.&u_|(3|_aqgafr eTen SIMWPSSLILIHSDSI.

(A) Current (B) Power
GITeBTL ‘ 1

(C) Over M Voltage
gauir GaumdGLgy

(E) Answer not known
aflenL Ggfwaldena

75. In direct torque control of inductor motor, when motor torque is

equal to reference torque, the rotation is
Bam_sagar G Lmfler G Lmié sanCrrede, GLDrrl_l_rrrr Lmié nHmib

Qysugenev Lmié swns @mLnder, Gurl L mt sphé

(A) decreased (B) increased
Genmi b SfEf&E@H0

M stopped (D) jerked
Hp@n LS

(E) Answer not known
ellen Gsfweldene
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76.

717.

78.

The system is not a braking method of a dc motor.
enreumeuameupdley ergl 1g.&. Gurlimiler WGr&dk peop Sidben ?

(A) Regenerative braking (B) Reverse current braking
NQgenGryg i Gr&din MGeurraiv Eyar_ 19Cy&H ki
}Cr AC dynamic braking (D) Rheostatic braking
.48, e_andls GCraslm ACwrevLmgd GNCr&SH

(E) Answer not known
eflenL Qgfwellcbana

Quick return mechamsm 1s used in a

" eflenyey Sy Aumdlapenpwireng Bl uumu@gg,uu@aﬂg)gj

(A) Milling machines (B) Broaching machine
Wleoeln Wadiew OGpradlm wlader

(C) Grinding machine M Planner machine
Heneimig. LOlad 6 ' Qermémi laglem

(E) Answer not known
eflen g flweilcenc

In the conveyor control system, conveyor motors are started‘ in

sequence
setrGeu am@uu@g,gm St o drer s@rGeuwtt Gurl L miger @uikis

Qam_m@h efgwn

M one after the other (B) alternately
@erpen e geTprs wrd wrd

(C) same time 7 (D) reverse order
@Gy Crrsdle ardlir Hapsufled

(E) Answer not known
eflen Ggflwaeldrenc
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79. The speed N of the cumulatively cascaded motors can be controlled

80.

81.

by the following are equation

GGl CseavCsil Curlrisafien C'S@Jasun N-g Qémeu@d e

FLOGTLITL lg 6 epevLh SesrLHlwiewmid
(&) N =120f/(P, - P;) &N =120f/(PA +Py)
(C) N=120/f(P, +P;) (D) N =120/f(P, - Py)

(E) Answer not known
clenL. GgMwellevena

When two phase leads of a 3¢ induction motor is interchanged, the
motor is .
3-Cuev Qe seagen  Curiimfler  Queanh Slsamer qamstanem
wrHonbCurg, Gum i
M ‘gets reversed - (B)" rotates in same direction
adir flensulicd sHmib <21Cg Sangullcd &Hmibd
(C) gets increased speed (D) gets burn-out
Geuslors &Hmibd Lienau|b
(E) Answer not known .
flenL Ggfweildeana
An offline UPS requires
Offline UPS &, Cameuwnang
(A) Inductor (B) Capacitor
M Battery (D) Resistor

(E) Answer not known
clen Qgfwueiicvans
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82. OQutput ripple of SMPS is
SMPS & Output ripple

A High (B) Nil
(C) Very low | (D) Low

(E) Answer not known
eflenL Qsflueildana

83. AC drives used to control : ) ,
Qeeupeuameupmier ergy AC drives apeotd control Geinuembs ?

(A) DC motor | (B) DC series motor
M Induction motor (D) Cyclo converter

(E) Answer not known
e Qgiflweldane

84. Buck converter is
Buck converter ereruig)

(A) Step up converter

M Step down converter

(C) Step up and step down converter
(D) Step up or step down converter

(E) Answer not known
clenL Qsfluaidena
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85.

86.

87.

A chopper, where voltage as well as current remain negative is
known as *

Chopper-é voltage whmib current-er wéiiy negative erefled
(A) Type-A ¢2f Type-B
(C) Type-C (D) Type-D

(E) Answer not known
- ellenL @sflweiicdena

Resonant pulse commutation is
Resonant pulse commutation erérg

(A) Class-A Commutation M Class-B Commutation
(C) Class-C Commutation (D) Class-D Commutation

(E) . Answer not known
ellenL Ggflweilaene

The minimum value of Anode current that is associated with the
turn on process of Thyristor is

GmpbslL gwrer Anode current yaig Thyrlstor g ON dsweuspsns
vweTUREFUUREDG. g

(A) Holding current m Latching current
(C) Gate current " (D) Trigger current

(E) Answer not known
eMen Gsflwealcena
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88. In a thyristor, anode current is made up of
Thyristor-é anode current-ew 2 (mauré@eug

39.

90.

(A) Electrons only
Electrons wr @

Electrons and holes
Electrons wmmib holes

(E) Answer not known
clenL Qgflwaldena

Inverter is used to converter 1s

Inverter ereiiuig converter
(A) ACtoDC
(C) ACto AC

(E) Answer not known
eflenL Qgflweiidency

(A) Transistor
g rreeil eIt

@ Heater
Qb L

(E) Answer not known -
dlenL_ Csflwielrene

39

1s the electrical symbol of

(B) Holes only
Holes wi @piw

(D) Electrons or holes
Electrons wicdag holes

(B) DC to DC

&7 DC to AC

ergm@amLrar Mlem @Huih

(B) Transformer
. G TeNE.LITTON

(D) Lamp

exmby
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91.

92.

93.

Voltage variation at consumer point is permissible only within
FIETGeuTT Hérefludlép (PS5 LOM LT (h) o arGer L HGw
Si@wd&asluRng
A) +20% @7 +5%
©C) +10% (D) £2%
(E) Answer not known
- eflenL Qaflwehidane
What is extra high voltage?
(MG 2 Wil WETaN(IPSSD CTeMITd 6TeHTa?
M Exceeds 22 KV
22 KVoltage Guwe
(B) Above 2 KV and below 22 KV
2 KV Guwe 22 KV &p
(C) Above 650 V and below 2000 V
650 V Gwe 2000 V &p
(D) Above 250 V and below 650
250 V Guwe 650 &@&
(E) Answer not known
alenL Azflweldena
To measure the level of illumination
Illumination <yereflenan setell 2 sayeug
(A) Power analyser (B) Synergy meter
¥ Lux meter (D) Multimeter

(E) Answer not known
clenL Qzflueidena
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94. Heat is transferred to the surroundings by
Geutid &pmLLPSHbE wrHpuuEHpg Blgearmed

9b.

986,

(A) Conduction
&L &G0
(C) Radiation
adliralFe:
(E) Answer not known

cflenL Qzflweildwvena

(B) Convection
QeuliuFsend

M All the above
Cuphendliu enarsgb

What should be the height of the Roof Pole?

gneny sbugdlem o wpb ererareurs @ més GCeuadrhib ?

(A) Lessthanb5m

5 m el Genpeuns
(C) More than 3 m

3 m &l siflswns
(E) Answer not known

cflenL QaRweildena

M Less than 3 m
3 m &L gampeurs

(D) More than 10 m
5 m ¢l dlawrs

The cheap and temporary sjrstem of internal Wiring 18
2 a1 cuwfii-@e, weleurer wHMD FsHETs enwLIGDHE;

(A) Conduit wiring
© @wpmi auwifle
(C) CTS or TRS wiring
CTS wioeg TRS awdn
(E) Answer not known

eflan_ Gz flweiidana

41

M Clear wiring

Qgefleumer euwifn

(D) Casing-Capping wiring
2 D-epHiger euwitim
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97.

98.

ELCB operates on a minimum fault current of and
disconnect faulting circuit.

(Fault current) auflwins umybCUng, Sig LPSTET SHHED
@enesi NN (mHbg gy &EEmg.
Y 30mA (B) 300 mA
(C) 3mA D) 3A
(E) Answer not known

aflen Qg flweiidensa
Centrifugal pump converts to . _
Qeam’_Mlbysesd uburarg <Y HHEneD < DDEOTE
WIHDIFDSI.

(A) Chemical energy to Electrical energy
Caudlumpmene WemanmHDOTS

(B) Electrical energy to Chemical energy
Henarmppera CauHurppears

M Electrical energy to Kinetic energy
enammhipena @WisSsWTDHDEOTS

(D) " Kinetic energy to Electrical energy -
@uisdswunrhoene WenaTTHnears

(E) Answer not known
eflenL Qgfweildana
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99. The range of operating voltage in high tension cable
High tension cable e operating voltage <yang

y)’ 1-11 KV (B) 21-33 KV
(C) 1220 KV (D) 33-66 KV

(E) Answer not known
v Ggflweicranay

100. The output of a tungsten filament lamp depends on
Tungsten filament lamp e output sy eng east Qurnsss ?

(A) Size of lamp ) (B) Size of the shell
M Temperature of filament (D) Option (A), (B) and (C)

(E) Answer not known
eflenL Qs flwelidena

101. The output voltage of the integrator is
Integrator — &1 output voltage

1 dV;

M Vo=-=V ®) Vo 7

By

© V,=V, D) Vo=V 1+-L

. . R,
(E) Answer not known
allenL Ggflwaidens
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102.

103.

104.

The open loop gain of ideal op—Amp 1is
Ideal op—Amp - & open loop gain
#0  Infinity | (B) 10,000
(C) 100 D) o
(E) Answer not known

aflenL Qgflweldena
An ideal op—Amp has
Ideal op—Amp &
(A) Infinite input and output impeda'nce
(B) Very low input and output impedance
(C) Low input and infinite output impedance
M Infinite input and zero output impedance
(E) Answer not known |

eflep Gsflweldane
The universal gate is gate
yefleuigedr gate g eng) —— gate
Y NAND (B) OR
(C)y NOT ' (D) AND

(E) Answer not known
eflen Wgflweildana
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105. A nibble is string of
@ nibble eérug)

#0  4bits (B) 2 bits

4 bits (preng 190) 2 bits (@ryewrh )
(C) 8bits (D) 16 bits

8 bits (er’_(H 4c) 16 bits (ufermmy Q)

(E) ' Answer not known
ellenL Qaflwusiidena

106. Convert the following Hex number to octal number A72E
Spaar Hex eramenanr octal erawmemmas wrhpeyn A7T2E

(A) 241426 (B) 313212
M 123456 (D) 654442

(E) Answer not known
dlenL Qzflwaidena

107. The inverter is
@QerQeui_L i eréugy
#0 NOT gate (B) OR gate
(Q) AND gate (D) EXOR gate

(E) Answer not known
efenL Qaflwederancy

45 336-Electrical and Electronics
Engineering



108.

109.

110.

Johnson counter 1s also caused as

STEHFEH e eSTL(T eTemmILD enp&ELILIGE DS
(A) Parallel Counter M Twisted Ring Counter
(©) Ripple Counter (D) Ring Counter

(E) Answer not known
aflenL Gz Mwaldana

The race around condition occurs in which flipflop?
apg flipflop-é race around condition ghu®fpg ?

(A) SR Flipflop (B) D Flipflop
M JK Flipflop (D) T Flipflop

(E) Answer not known
eflenL GgMwelildana

The no change conditions occur when in JK Flipflop.
JK Flipflop-& erii@urqpg no change condition gpu@w?

@ J=1,K=1 & I=0,K=0

C) J=0,K=1 D)J=1,K=0

(E) Answer not known
eflen GsMNwialldvena
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111. The number of Flipflops required to construct a decade counter is

112,

113.

Decade counter-g e maurs@ushE GCsmeauliu@in

eraiTaRtl s ans
@) 8 B) 10

M 4 (D) 3

(E) Answer not known
eflen Gz flweldeane

D/A converter is required.to convert the
D/A converter e uwerun®

m Digital signal to Analog signal
(B) Analog signal to Digital signal

(C)  Continuous signal
(D) Discrete signal

(E) Answer not known
alen Qaflwuefdenc

The slowest A/D convert'er 18

(A) Flash type '

(B) Successive approximation type
M - Dual slope type

(D) R-2R Ladder type

(E) Answer not known
eflenL Qg flwelildena

@epeunar Gausd Ganeer A/D converter.

Flipflop-sefien
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114.

115.

116.

In D/A converter equal increments of digital input causing equal
increment in analog output 1is called

D/A converter & equal increments digital input H@ equal increment
in analog output-&@ ghueug eretug

(A) Resolution ﬁ( Linearity
(C) Accuracy (D) Settling time

(E) Answer not known
dflenL Gsflwelcrena

Which of the following memory is non-volatile?
Gemeuqmib memory-é erg non-volatile?

(A) RAM & ROM
(C) Cache (D) Flip flop

(E) Answer r£0t known
clen Wgflweiidana

Data 1s stored as a charge on the capacitor in
Data eureng capacitor-& charge <& Gssdl eveuriug

W Dynamic RAM _ (B) Static RAM
(C) ROM (D} EPROM

(E) Answer not known
elen Qgflwaiidane
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117.

- 118.

119.

Combinational circuit-ssrer @ sgésm

(A)
(€
E)

Another name of Demultiplexer is

1s an example of combinational circuit.

Flipflop (B) Counter
Shift register }m Multiplexer

Answer not known
e Gz flweildame

Demultiplexer-g TATAYLD B PHSHOMLD.

P
©
(B)

Data distributor (B) Data selector
Encoder (D) Counter

Answer not known
eflenL Qgflweildvenay

The number of input lines in a BCD to seven segment decoder is

BCD to seven segment decoder-é e érer input line saflenr eramenfléans

(A)
()

(E)

8 (B) 2
16 & 4

Answer not known
eflen Qs flweiidene
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120.

121.

122.

The term ‘demultiplex’ means

‘Demultiplex’ erermmen )

(A) Many into one ﬂr One into many
(C) Many into many _ (D) One into one

(E) Answer not known
allenL Ggilweilcena

Power drawn by a 3-phase balanced load is given by
3-Phase balanced load-& Power-er wéliiy

A) P=V,I,cosp @ P=J3V,I, cos¢
(C) P=+3V,I, | D) P=+3V,,I,, cosp

(E) Answer not known
eflenL Qgflwueiidanc

The relationship between the frequency of ac wave and the periodic
time 1s given by
Ac wave form-er frequency wpmi periodic time-g@w 2.6rer Qgmiyy
wmg ?

@A) f=T ®B) f=T"

L = ' @) f=Y

(E) Answer not known
allemtL_ G]g,ﬁ]uaﬁ]d)ma)
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123. The Electric Power Formula expressed as

124.

Electric Power-anw samédl_ 2 gab swaurh erg)?

(A)
(©
(E)

P=VR | (B) P=V?R

12 V2
P=— MP=—§

Answer not known
eflen Qzfwellcrena

When two resistances are connected in series, they have

@rer(® WesenLs6T series @eaantiiGd @ma@n Cung,

M Same current passing through them

®)
(©)
D)

(E)

2iger auflGuw uryb WerGanm b @Cr ereuns @ (Ha@GD

Same resistance values
WlensanL wHIL Qerpns @imEEh

Same voltage across them
<ighdlen_Gui 2 erer e SiWpss Caupur® geaTors QmHeEGD

Same power dissipation

Senau Geuelluu@sgib Wensssdl qearmrs Ems @

Answer not known
alenL. Gsfwcildena
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125.

126.

In a given circuit, the value of unknown resistor is
30Q R

——ANAMN—
L—:'\/::;\C’/\( >!< BV —

QarRssru @Gerer WenanBler o drer Wergenl (R) wdiy

300 R

———144V >!< 98V —>
A) 0.020Q ¥ 200
©) 2000 - - (D) 40Q

(E) Answer not known
eflenL QgMwailcdrena

In a d.c. genérator, if the field winding is connected in parallel with
the armature, then 1t 1s known as

Sl eeuakmg i @eaarmuins @eearsasiiul Gdrer D.C. QeenGrifer Quui

(A) Series generator M Shunt generator
Qg QegenGriLi (Series) yp (Shunt) QgarGrr i
(C) a.c. generator (D) Commutator
(a.c.) .8. QgerQrii S GLL L

(E) Answer not known
clen @Agflweieana
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127.

128.

The overall efficiency of a DC Generator is given by
e DC QgarGricfan gl G Qurgs Qswddper aarug

(A) E,-I,/Mechanical Power Input
E, -1./@uidly s&8 2 eref

M V - I, Mechanical Power Input
V. I,/ @uidy 68 o eret®

©C V-I/E I,
V- I/E, I,

M) E,-I,/V-I,
E I1,/V-1,

(E) Answer not known
eleni- Qgflweldena

Calculate the coil pitch for a (1) 2 pole winding and (ii) 4-pole

winding. Given armature of a d.c. generator has 20 slots

(1 2 gimeud wHmd (1) 4 ZGeub eeuargmstar smuld (G F-anw

sansdlan. @is D.C. QgaGrii 20 g ingit dvar samer Qaramhdrearg

(A) (1) 2and (i) 5 (B) (1) 5 and (1)) 10

(D) 2 wpmiw (11) 5 (1) 5 whmw (1) 10

¢ (@10 and Gi) 5 - (D) () 10 and (i) 4

(1) 10 wpgw (1) 5 (@) 10 womib (1) 4

(E) Answer not known
' eflen_ Gzflweildeanc
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129. The coil span is less than one pole pitch is called

&(meT @enQeuetl ¢ si(heu &S aenm SimPssLGEDg.
(A) Long pitched & Short pitched

Mt SolAFE SoF ML sul9&F& ()
(C) Over pitched (D) Double pitched

@eulr SHlF&({H L& ootS&s({H

(E) Answer not known
llenL Agweildens

130.. In DC Generators, Lap winding is preferred for

DC QgenGriifev, ey eneuaisig uaEsE QUIRBSIWD.
M High current, Low voltage
2fs NarGarmiLid, GHephs LWaeTIpsSsLd
(B) High current, High voltage
gidle WanGerrlL1b, 2ifls Wenarnpssh
(C) Low current, Low voltage
G@phs WarCarmlLib, Gonhs WisTan(pssb
(D) Low current, High voltage
Gaphs WenGerrLib, sidls Wenen(pdsh

(E) Answer not known
eflen Qg flwaiicane
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131. In a lead acid battery the positive plates is
Lead acid battery-é positive plate-<yers

#7 Pho, (B) H,
(©) PhO | (D) Pb,0,

(E) Answer not known
allen Qg flweildena

132. As compared to Edison Alkali cell, a lead acid cell has
Edison Wersasdaer euui@w Gurg, Lead Acid fldrsawrang

(A) greater internal resistance (B) higher cost

Fs 25 T 2 L wig o5 efleved 2 enLwig
M higher efficiency (D) lower voltage
<ids efficiency grésmiquig GODHS aTarssD H(Heug!

(E) Answer not known
lenL Agfwaildana

§
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133. Ward-Leonard System of speed control is NOT recommended for

134

aumT_-Gwimatnl_{ apanyd THHE 2 EHSSDW ?
W Constant speed operation

Revewrer Ceus Aewaur®

(B) Very low speed
Bl Gopss CaussddG
(C) Wide speed range
sflure CaussHig

(D) Frequent motor reversals

Slgssy GorlLn devgerwu FHmuu

(E) Answer not known
eflenL. Gsflwaildena

Expand NVC in DC motor starter _
4 & Gurcrmi euimiLflé erem.ell.f-enw effleyuBhisseyd

(A) No volt current M No volt coil
Crr Geumebl_ syari_ Cpm Geureol_ smulildd
(C) Normal volt coil (D) Normal volt current
B Geumd smulie - e Geumebl syafr

(E) Answer not known
ellen Gghwelcena
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135. In field control method of DC shunt motor, the speed control

normal rated speed is not possible.
g8 ager Gomiirfler YL@ s Grréd aepude, Geuss sU_Hrium@

gngmyent HIA_OULL Gousd srgduddama.

(A) above @ below
CuGe &G

(C) double of (D) more than
@7y <l

(E) Answer not known
eflent Qg flweilcrena

136. DC motor that is suitable for constant speed application is
Constant speed application -4 espssrs smsuu@n DC Guom Lmi

ouend:

: M Shunt motor

Shunt Gurccmi

(B) Series motor
Series Guomc_Lmit

(C) Cumulative compound motor
Cumulative compound GuriLmi

(D) Differential compound motor
Differential compound Guwm’Lmit

(E) Answer not known
cilenL Ggfweildens
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137.

138.

Armature core of a de machines is made of
D.C. Quélafler Armature core ageame e (peurdsliu i (HEELD ?

(A) Carbon steel (B) Mild steel
SMTLIGT GLled enL(h 6ledd

@ Silicon steel (D) Cast iron
AlGamen culed ey Buwie

(E) Answer not known
ellen Qg flweildane

The value of back E.m.f of DC Motor at the time of starting is

D.C. Gom_Lreny start QeuiywCurg sisenr back E.m.f-eén sjereunang
ereueUTm B)(H&ESLD ?
W Zero
ggguﬂb
(B) greater than zero
LRPLs®S el iflaid
(C) lesser than applied voltage
Applied voltage-ew 9 @eney

D) greater than applied voltage
Applied voltage-enw &L siflsid

(E) Answer not known
silenL Qaflueiidvandy
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139. The effect of Armature reaction in a D.C. Motor results in
D.C. GorLnflé Armature reaction-é gpuLésgw eerelar seaewo

Y0 Weakens the Main Field flux
Main Field flux-g eugy Qués Qeliyn
(B) Increased Armature Voltage
Armature Voltage =iflswn@wn
(C) Weakens the Armature flux
Armature flux-g cgiefpss Qe
(D) Increase Armature current

Armature current-g sifswrsgn

(E) Answer not known
ellen Agfwieiicbane

140. Copper loss can be determined by conducting
asraur Blergsd @ulienu Srorellss Guopardter Geudriguw Gacrrg,mm

(A) Open Circuit Test M Short Circuit Test
Open Circuit Test Short Circuit Test
(C) Without any Test - (D) O.C. and S.C. Test
e Gengenar Qeiwumoed 0.C. and S.C. Test

(E) Answer not known
eflenL. Gaflueidena
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141. In a npn transistor

@@ npn igrrendlevLfle FLETUTH BienbU|Lb.
A I.=1,+1, B I;=I1,+1;
© I,=1.-1I, P L=1+1,
(E) Answer not known

s

(©
(E)

eflent Qzflwelens

142. A JFET is also called transistor.

@ JFET Guayb eréieuny oienpssemd :
Unipolar (B) Bipolar
Unijunction (D) Both (A) and (B)
Answer not known
clen Qgflweildeme -

143. The operating point is also called the

Quss Lerafl GTemID SeppEELUBE D).
(A) Cut off point ' (B) Saturation point
Qeul_RiLiyeref g yererl
(C) Both (A) and (B) - # Quiescent point
(A) vpmd (B) @renr@n . senwdlwren Lyerafl
(E) Answer not known

eflen Qgflweldene
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144. BC 147 Transistor indicates that it is made of

BC 147 wyrerlevi @)s <D UG THTUDSS GDSEDE.
(A) Germanium @7 Silicon

Qegironefiuib Sel&anen
(C) Carbon (D) Aluminium

SMITLIGH , Sigidleflub

(E) Answer not known
ellenL QAsMwelldvane

145. The maximum efficiency of a half wave rectifier is

am Half Wave Qrégceouwufar eofsuugurer  efficiency  wduy

(A) 81.2% (B) 50%

.y 10.6% . . (D) 25%

(E) Answer not known
dilenL Qgflusiidene

146. A rectifier circuit having only one diode is called as
em Qrsg@uwr syl kd @ dlode CsemeuiulLrd, 3ig

S psslILHEDg).
(A) Full wave rectifier (B) Full wave Bridge rectifier
M Half wave rectifier | (D) Voli:age tripler |
(E) Answer not known
eflen_ @gsflweildvana
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147. In a Pi(x) filter circuit Inductor and
Capacitor components are used.

o Pi{7)-QdLi sl g @emL_sLitsar wHOiLD
Capacitor -sér 2 ereng
(A) 2and1 (B) 3and 2
2 wpmb 1 3 whgid 2
(C) 2and3 g 1and 2
2 wpmbd 3 1 wpgud 2

(E) Answer not known
cflenL Qaflwellcdrency

148. A Semiconductor has band.
@ CeGsaTL&LIT 6 Guewr® (band).
(A) Co-ordinate ’

(Co-ordinate) @@hrdemeniy -
(B) Electrovalent

era&l_CrrGeusveiri_
M Co-valent bonds

(Co-valent) CanGeuaer LimamL_ehv
(D) None of the above

" CGopemdlu agebdemea

(E) Answer not known

aflenL QgMwelldena
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149. In a half wave rectifier, the load current flows
e half wave rectifier-& load WanGeanm L saig

@)
&
©
o

(E)

150. TRIAC is equivalent to
TRIAC-38p@ swwnang

(A)

only for negative half cycle of the input signal
Negative half cycle-efle» wi Gib Qadgiib

only for positive half cycle of the input signal
Positive half cycle-afleb (b Gedwgibd

for full cycle

Positive and negative half cycles Qedgubd
half of the positive cycle

und positive half cycleddler wi Bid

Answer not known
clenL Ggflueideana

Two SCR’s connected in parallel
@reank SCRaer Qaaruns @eaanssiut Hererar

| ﬂ( Two SCR’s connected in antiparallel

©)

(D)

(E)

@ran® SCRaer erdliunyeddler @eammasiul_(Herare
One SCR and one diode connected in parallel
@ SCR whpib @ e Curh Qeeamurs GoanssliuLr Hererns

One transistor and one diode connected in parallel

(T g FrerSlenL it WHILD ) e Guir( QeneaTns
@enamassiLC_(HeTeng) - - -
Answer not known

cllen Qgflweildweney
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151. The following electronic devices is used for stator voltage control in

fan regulator

Ber 18P ArgCalLisafldr dvCLrLi (Stator) Weranwsamss sLGULESS
Qereumb Weneran sngarmseflen org LweaTLGE DG

W TRIAC (B) BJT
(C) MOSFET (D) IGBT
(E) ‘Answer not known
cflenL Qzflweievenco
. 152. An SCR behaves as a — —— switch.

(B) Bi directional
Grar( Hevsullcd

(D) -Both (A) and (B)-

am SCR selllans QewaouGEng.
M Unidirectional

Cr devgufled
(C) Mechanical

@uibdreuicd

(E) Answer not known
dilenL @gflwaiideney

(A) vppw (B) @rer@un

153. A four layer diode is sometime called
e prang sihEs (layer) e Cuin@ ereny sianpssiiuBeug

(A) SCR
@ DIAC

(E) Answer not known
allenL Qgfiweldena
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(B) TRIAC
(D) SWITCH

336-Electrical and Electronics
Engineering



154. A clipper circuit removes
@ Hafliur sisul sieneuder

A)

Positive

Gpitenm

2 Both (A) and (B)

(A) vpmw (B) @rer@on

(E) Answer not known
ailenL Qgfluecidana

portion of AC wave forms peaks.
LEHeow biGang.
(B) Negative

erdlirnenm

(D) Linear
Criflwed

155. The circuit shown in the given figure is a

C
+0 O+
‘v, DY 3R |V,
-0 O—
Qarhéasunn_L gl s ULl Hidrer Fr&ul G LD.
C
+0 { I O+
W oy g |w
- O O—
% Clamper (B) Clipper
fermbuir Hafitiui
(C) Full-Wave rectifier (D) Voltage regulator
WP DD CrdigsenLiulT CeumebGLgp Cly@Glerim:
(E) Answer not known
alenL Qzflwelcdreney
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156. Liquid crystal do not emit light .
dreu ugsd (Liquid crystal) geflow ——— Qauefl@ng

(A) Indirectly & Directly
W DIPSLONS Crrgwns
(C) Both (A) and (B) (D) None of the above

(A) wpmiw (B) Qrem@iv CuGa ergieyh @eene

(E) Answer not known
eflenL Qgflwelidensy

157. A LED is-basically a——— PN junctions.
e LED—ew eigtiveriee ———— PN junction @méeb.
Mr Forward-biased (B) Reverse biased
(C) Lightly doped (D) Heawily doped
(E) Answer not known
cflan Qsflwefdane
158. Photo transistors and — are used for sensing light.
SGUMGLm yorenflevirger pmib ——— gpefledw 2 ey LwerLHE g
(A) Transistors (B) Amplifiers
g-yrendlen L raser Qumadl
(C) Actuators - : M Photodiodes’
Busd GUTCCLT—enL Guir@ser

(E) Answer not known
eflen Gsflwciidene
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159. Which multivibrator is known as Flip-Flop multivibrator?
Flip-Flop wégameaiCriori aar siempssiin@n wayeandGrlr erg ?

160.

)
(B)
©)
&

(E)

Frequencjz divider applicafion uses

Astable multivibrator
<ievGLifer (Astable) wayeeGri

Monostable multivibrator

GurGameauGLQer (Monostable) weigaeiCrLi
Schmitt trigger |

sulllL (Schmitt) grem@se

Bistable multivibrator

euevCGLber (Bistable) wan.emes G

Answer not known
cflenL Qgflweldame

ofiQeuair  eu@gliy (Frequency divider) vwemun®

Ul
LG H 5SS S
w Bistable multivibrator
(Bistable) evuchGLidler weigemeuiGriLir
(B) Monostable multivibrator
(Monostable) GurGermev19ér wevigameuiGrrLi
(C) Astable multivibrator
<ev9er (Astable) wageea G it
(D) Tetra stable multivibrator
QLigr Bleveowman weiganeutGrl it
(E) Answer not known
eflen Ggfweldene
67 336-Electrical and Electronics

Engineering



161.

162.

163.

The necessary steps carried out to perform the operation of
accessing either memory or I/0 Device constitute a

I/0 device <éeg memory e Geweur e Qeliesha Gmm@asrrmm
GouatTig w ag,‘é,]u_lrrmé]umrrm LIl &

(A) Fetch operation (B) Execute operation
M Machine cycle (D) Instruction cycle

(E) Answer not known
cflen_ GgMlweidena

The clock frequency of an 8085 Microprocessor is 5§ MHz. If the time
required to execute an instruction is 1.4 us, then the number of

T-States needed for executing the instruction is

8085-aén frequency 5 MHz. ¢@ instruction-g execute Qs
Goanauwimer sve jere) 1.4 4s eraflld, =ibs Instruction-e execute Qeiw
Gzehautiu@d T-States seflar eramaniisans

(Aa) 1 (B) 6

M 7 (D) 4

(E) Answer not known
e Gzflweldema

The maximum addressing capacity of Intel 8085
Intel 8085-6r =iflsuc s addressing capacity

¥#0 64KB (B) 1 MB
(C). 4KB . (D) 32 KB

(E) Answer not known
sllen Ggflweiidana
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164. The first machine cycle of an instruction is always a
wsen wpseiled o arer Instruction cycle syeg

(A) Memory Read Cycle @ Fetch Cycle
(C) T/O Read Cycle (D) Memory Write Cycle

(E) Answer not known
sllenL. GgMlwaidenc

165. Total no. of bytes in LDA éddr16
LDA addr16 erénug aggamer byte-ser Garame instruction

A 1 (B) 2

& 3 ' . D)4

(E) Answer not known
eflenL Qgfwelcrenco

166. Consider the following instructions in a program of 8051
Microcontroller.

MOV A, # 5Ah
SWAP A
The content of A register is given by

MOV A, # 5Ah
SWAP A

Gupase_  instructions-seer 8051 @w&Crrsar Grreofle execute
Qsuig9neE A register-er wdiiy

(A) 5Ah (B) A5h
(C) 55h | & AAh

(E) Answer not known
cflenL Ggfueildenc
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167.

168.

The addressing mode of the following instructions Mov A, B

Mov A, B-ar @i _gedfles mode

(A) Register indirect addressing
(B) Immediate addressing
(C) Direct addressing

(Zr Register addressing

(E) Answer not knowﬁ

cllen Asflweilcrena

Which of the following instructions will load the value 35 h into the
high byte of timer 07
@ée apg instruction 35 h ereémp data-ewau Timer register-en higher

byte-é load Qswiuybd

- m MOV THO, #35 h (B) MOV THO, 35 h

(C) MOVTO,#35h (D) MOV TO, 35h

(E) Answer not known

cllenL Qzflwelcrend
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169. Mode 2 of Timer Operation of microcontroller is known as
anw&Crrsar. Grrafa en_wir Operation-er Mode 2}6&‘&5 &M&SHng

(A)

13 bit Timer
13 bit e

M 8 bit Auto reload

8 bit g CLrfCam

(E) Answer not known

eflen Qaflweiidana

(B) 16 bit Timer
16 bit e o

(D) 8 bit Split Timer
8 bit colded epLoim

170. The function of TR bit of TCON register

TCON Quglebfer TR Q. wwerur®

Y€ Timer ON/OFF

(C) Timer overflow
(E) Answer not known
eflen @aflweiidana
171. R1/Tlisa interrupt.
R1/T1 erémugy — interrupt.
(A) Data Transfer
©) ' Internal ‘
(E) Answer not known

cflenL. Wgilweilcvene

71
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(B) Mode selection
(D) Baudrate selection

M Serial Communication
(D) External
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172. In 8255, BSR mode 1s

173.

174.

82565 - & BSR mode <y,ang
(A) Enable MSB of control word (B) Enable LSB of control word
(C) Set/Reset port B pins ;US Set/Reset port C pins

(E) Answer not known
clen. Qzflusidens

What is the size of internal bus of the 82557
8255 — e internal bus - e wyerey wing?

(A) 16 bits ' #B 8 bits
(C) 32 bits (D) 12 bits

(E) Answer not known
dlen Ggfwelldena

8051 contains type of serial port.

8051 — auens SMlweé Cunil e Gsram@ieTerg
6 Full duplex (B) Half duplex
(C) Simplex (D) Semi duplex

(E) Answer not known
cllenL Qgflwelldrana
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175.

" 17e.

177,

RS 2321sa
RS 232 erénug

A0 Serial communication standard
(B) Modem
(C) Interrupt controller

(D) Parallel Bus for data communication

(E) Answer not known

eflenL Agfweildana
8051 micr(.)controller has . no. of /O pins.
8051 anw&Cyr sar Curavit erggenen 1/0 pins-semer Qupmiereng 2
A 8 (B) 16

32 - (D) 24
v

(E) Answer not known
eflenL_ Qzflwedloens

In 8051 microcontroller relative range of short jump is given by
8051 ewsCGrm s _Grreofléd short jump instruction — 2 e w relative

range-g GOCAH .
#C 128 to +127 bytes (B) —64 to +64 bytes
(C) 256 to +256 bytes (D) 512 to +512 bytes

(E) Answer not known
eflenL Qgflwueiicrener
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178. On power up, the address of R, register in a 8051 microcontroller is
8051 erwalym seaml Crraveny power on Qewupd Gung R, register—én
address e

(A) OFh (B) 1Fh
(C) 17h & o
(E) Answer not known

sflanL Qgflweildena

179. 8051 microcontroller has on chip ROM size of
8051 ewsGym se Crreflar on chip ROM ar siereunang
Y0 4Kbytes (B) 8K bytes
(C) 16K bytes (D) 32K bytes

(E) Answer not known
ellen Qg flweildenc

180. The device that generates the basic timing clock signal for the
operation of the circuit in a 8051 micrq controller is

8051 ewsCrr s Crrafler circuit sor Gaueme Gsuw Gumrseurer
Timing Clock Signal g 2 eunsgdlem ienwiiGer Quuii

(A) timing unit (B) timing and control unit

$2 oscillator (D) clock generator

(E) Answer not known
eflen QgMuwelena
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181. In the

182.

affected.

o
©
(E)

Individual drive
Group drive

Answer not known

- eflen Gafwelidvenay

For starting a lift, the required starting torque is upto

, only the machine whose motor develops fault is

& ug goul L Guweflar L HGEL urdésLuGSDS

(B) Multimotor drive
(D) Both (B) and (C)

times the full load torque of the motor.

(M SoeL oL Qeiiw, Gt Lrfler GI'l.)L._rrrflq_fEJ _rite full load Crié

Guméd
22
(®)
(E)

DL BIETE @)(HEEGLD.
2to3
4to6
Answer not known

aflen QgMwelldbena
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183. In a punching machine, the Flywheel is used to - .
glenemliHid @upsrsde, Lieneraidamang &ams Lweruhidlng.

(A) reverse the speed/direction
Heng/Cousgens IHDIUSHES

Il reduce the fluctuation of load
load sefigydrer gpp & Gnéssas Gonss

(C) provide high starting torque
agﬁla; UL Mg Ml L TT&eNs 2 (heuT&@GeuS Mm@,

(D) run the motor smoothly
CurlLreny &7rs @l (Reughe

(E) Answer not known
cllen Qs flwefaena

184. . Constant acceleration period of train is also known as

Telles  gpu@b Heewurer wWHES &M @TGiﬂg;jLi)
SMPSSLILIHEIDG).
% Notching up period (B) Free running period
BT fi =0 period Free running period
(C) Coasting period _ (D) Braking period
Gamevi g i period 9Grédlrs period

(E) Answer not known
aflen Qgfwaildeana
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185. For 25 kV single phase system, power supply frequency is
25 kV single phase system-ggigsrer veui sleer frequency

(A) 60 Hz 50 Hz
(C) 25Hz (D) 162 Hz

(E) Answer not known
eHlenL QgMweildene

186. A method in that motor is not disconnected from the supply but it is
made to run as a generator by utilizing-the kinetic energy of the
moving train and the generated energy is fed back to the supply is

@@ CGoriini erg sleanlamhg se@mgssiuuLnod muidar Quss
gbppea (kinetic energy) Qsraw®h OQmerGrlLyrs @u_lr&laﬂ AT
2 (HeuM@Gd g hpene slamarsGa Hmpbu Heausgioug

(A) Dynamic Braking ' (B) Electromagnetic Braking
Lwiemfls GCr&dlr ersl CrrGsartnd (9Grasdln

M Regenerative Braking (D) Rheostatic Braking
ﬁngGrqu@ LS]CBUé;é]rEJ AGwirevLmg & 151(817&;_&1@

(E) Answer not known
cflenL Ggiflweilcoensw
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187.

188.

- transformers are necessary in AC traction to confine
the return current through the rail and return feeder then through
the ground.

AC cyréegefled erhg Cgmenevumod, guiledr whmd Alcer Soi eufwrs
sreient. sLgd Genari sy eufluing sL_sgfng.

(A) Current (B) Potential
M Booster (D) Step down

(E) Answer not known
cflenL Qzflwelcrane

Underground substations are generally located in .
YiflsE <iguid  dlpessmiqu  geeamblar Baawib SeweiiLd  ermig
BmieuriLiib.
(A) Villages
Armouymib (Villages)
(B) Town Panchayat
Bar ugsemusg (Town Panchayat)
(ﬂ Thickly populated area
: 2fls 10&&6T AB(maasTar L@
(D) Forest area
sThEeT Faphs LGd

(E) Answer not known
afer Qsfweldame
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189. Main consideration in designing of feeder is .
WsHwwrE smsLuBEDg.

L6 6Uly UGS

(A) Reactive power limit
M igel ueuir aSsl

' W Current carrying capacity
sraerL Hicudlé@ e

(E) Answer not known
e Qgflweldens

(B) Atmospheric condition
SHOOLD Gpalan fleva

(D) Both (B) and (C)
(B) & (C) @ran®mGuo

secondary distribution is

190. The most common _system for
400/ V, 3 phase
@resLmbd flevew udliomer HevLb 400/
WITed HebTg.

(A) 230V,3

@ 230V, 4

-(E) Answer not known
allenL Ggflwelcreney

wire system.

phase wire

(B) 415V, 3
(D) 415V, 4

191. Singlé bus bar arrangément in substation is used for Vbltages less

than

Aradler Ligfo U 2i@ranghGnes Gaumeédl_ &
_ Q&m@u@ﬁgﬂu@aﬁm@.

(A) 66kV (B) 110 kV

(C)y 220kV

(E) Answer not known
cflanL. GQgflweldene

79

&) 33kV

336-Electrical and Electronics
Engineering



192. During resistance welding, the heat produced at the joint 1is
proportional to

Qe een Geudigmdler, @avariiysaiies ghuin Qeuliuwmreg
& Cpir lflgwmgib.

WM I'R (B) kVA

(C) Current (D) Voltage

(E) Answer not known
aften AgRweiidena

193. In atomic hydrogen welding the electrode is made of

S| @l rgmeafle, eravs_Grmi DTG _— wimed .
2_(HEeUM&ES LU g (H&GLD.
(A) Carbon (B) Graphite
STiTues Areeen il
@ Tungsten " (D) Mild Steel
LMl ghoL_6hT AT TR A

(E) Answer not known
eflenL Qsfweidend

194. method has leading power factor.
wreng leading power factor ew Qararg
(A) Resistance heating - M Dielectric heating
QArélev_ebren @il 1 mi &L s M& @bl g
(C) Arc heating (D) Induction heating
76 QL. lg _ BeT_Gagen L igml

(E) Answer not known
eflenL. Qzflwellevana
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195. In resistance heating highest working temperature is obtained from

196.

heating elements
QrellevL_ered @b ghid s Qeutinflanaen SThGS FnigugTe GLITHET
(eraSlioe )

(A) Nickel copper (B) Nichrome
Hlé&sao—araum R&Cymb
@ Silicon carbide D) Silver
‘ Sellaen amrenLi(p #eveuir

(E) Answer not known
cilen_ QAsflwueiicvana

For the same lumen output, the running cost of the fluorescent lamp
18 .
@Cr au@uwer sl yl CasramL Lyeprearn elletsflar garaflln srevireng,
Gemperr’. elleT&E @ —————— @ (HEH@LD.

(A) equal to that of filament lamp‘
Gemwair ellend@E@ FWLNS

M less than that of filament lamp

SlarertL ellarsenseil_ @G neuns

(C)  more than that of filament lamp
QerwerL eflersamaci. siflawns

(D) none of the above
TEIe Sl

(E) Answer not known
eflenL Qgflweiicvena
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197. Stroboscopic effect in illumination is also called as
Qeuefisgasdlen el CrnGunevGamis eflenetey erarLig)

(A) Skin effect (B) Ferranti effect
sodler aflenemay Qyreiry. eflaneray
W Flickering effect (D) Thermal effect
Lets&in aflaperay Qgmod ellenera

(E) Answer not known
cilenL @siflwaelcdreney

198. A solid angie is expressed interms of

HLsCsremtib ————— oG Gararg.

(A) radians/metre . (B) radians
Crigween /B LT Crrg wemaeT

@ steradians _ (D) degree
VG CGriq LisaeT g &l

(E) Answer not known
cflen GgMwelldvane
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199 Sometimes the wheels of rotating machinery, under the influence of

fluorescent lamps appear to be stationary. This due to the

YGermGymeneim Gpo  dlasg  Gaellbpn  sdisefear  Lrdinlenme
Bupdrsder spmib shsghisd, Hoawrs 2 derg Cure Qgfub smrerTb

200.

(A)

&

©

D)

(E)

Tllumination of one lumen per sq.m. 1s called

Low power factor

GODHS LeUT LrgLT
Stroboscobic effect

e CrrGumavCamis allenarey
Fluctuations

Hlevaow by seranto
Luminescence effect

. enilareren edenaray

Answer not known
aflen Ggfweildana

aguiGaragailer g sg7 SodlgieTer giEner eraTLg

(A)

©),

(E)

lumen?/metre M lux
@@ e’ jeumL 6
lumen/watt (D) candela
@ e /eumt Caeimigeom

Answer not known
clenL Qgflweilceney
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